







Name: \_\_\_\_\_

ID: A

8. **M86.3h**  
AP 1997 MC #76 - Calc OK

If  $f(x) = \frac{e^{2x}}{2x}$ , then  $f'(x) =$

- (A) 1  
(B)  $\frac{e^{2x}(1-2x)}{2x^2}$   
(C)  $e^{2x}$   
(D)  $\frac{e^{2x}(2x+1)}{x^2}$   
(E)  $\frac{e^{2x}(2x-1)}{2x^2}$

- a. A  
b. B  
c. C  
d. D  
e. E

9. **M86.3h and M86.2d**  
AP 1993 MC #7 - No Calc

An equation of the line tangent to the graph of  $y = \frac{2x+3}{3x-2}$  at the point (1,5) is

- (A)  $13x - y = 8$                       (B)  $13x + y = 18$                       (C)  $x - 13y = 64$   
(D)  $x + 13y = 66$                       (E)  $-2x + 3y = 13$

- a. A  
b. B  
c. C  
d. D  
e. E

10. **M86.3g**  
AP 1993 MC #10 - No Calc

If  $f(x) = (x-1)^2 \sin x$ , then  $f'(0) =$

- (A) -2                      (B) -1                      (C) 0                      (D) 1                      (E) 2

- a. A  
b. B  
c. C  
d. D  
e. E



**Product (M86.3g) and Quotient (M86.3h) Rule Practice  
Answer Section**

**MULTIPLE CHOICE**

1. ANS: D                      PTS: 1                      STA: M86.3g | M86.3i  
     LOC: M.E.86.3g | M.E.86.3i
2. ANS: B                      PTS: 1                      STA: M86.3h                      LOC: M.E.86.3h
3. ANS: D                      PTS: 1                      LOC: M.E.86.3h
4. ANS: E                      PTS: 1                      LOC: M86.3g
5. ANS: D                      PTS: 1                      STA: M86.3g                      LOC: M.D.86.3g
6. ANS: D

$$D \quad f'(x) = \frac{(x-1)(2x) - (x^2-2)(1)}{(x-1)^2}; f'(2) = \frac{(2-1)(4) - (4-2)(1)}{(2-1)^2} = 2$$

PTS: 1                      LOC: M.E.86.3h

7. ANS: A

$$A \quad f(x) = x(2x-3)^{\frac{1}{2}}; f'(x) = (2x-3)^{\frac{1}{2}} + x(2x-3)^{-\frac{1}{2}} = (2x-3)^{-\frac{1}{2}}(3x-3) = \frac{(3x-3)}{\sqrt{2x-3}}$$

PTS: 1

8. ANS: E

$$E \quad f(x) = \frac{e^{2x}}{2x}; f'(x) = \frac{2e^{2x} \cdot 2x - 2e^{2x}}{4x^2} = \frac{e^{2x}(2x-1)}{2x^2}$$

PTS: 1

9. ANS: B

$$B \quad y' = \frac{2 \cdot (3x-2) - (2x+3) \cdot 3}{(3x-2)^2}; y'(1) = -13. \text{ Tangent line: } y-5 = -13(x-1) \Rightarrow 13x+y=18$$

PTS: 1

10. ANS: D

$$D \quad f'(x) = 2(x-1) \cdot \sin x + (x-1)^2 \cos x; f'(0) = (-2) \cdot 0 + 1 \cdot 1 = 1$$

PTS: 1

11. ANS: D                      PTS: 1

12. ANS: E

E  $h(x) = f(x)g(x)$  so,  $h'(x) = f'(x)g(x) + f(x)g'(x)$ . It is given that  $h'(x) = f(x)g'(x)$ . Thus,  $f'(x)g(x) = 0$ . Since  $g(x) > 0$  for all  $x$ ,  $f'(x) = 0$ . This means that  $f$  is constant. It is given that  $f(0) = 1$ , therefore  $f(x) = 1$ .

PTS: 1

LOC: M86.3g